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STRUCTURAL CHECK
1. MIATINADUANNATURIUYY EA / vigjiiiu (/ VIL )

1.1 MeludwniIaMmeIny (CWT : col.2-3 ) 8109 ( AMP : col.4-5 ) é11a (TMB : col.6-7 ) Hag
|AIRBITY ( AREA :col.8 ) SIAUT EA /13 4 (EA : col.9-11, VIL : col.12-13, PSU NO :
col.14-17) azdoaiFesdiduTasisunn 0001 wdsddugaitie

1.2 TdufSouifiey ( MATCHING ) IDEN w84 DATA i1 IDEN 483 CONTROL TagnfSoutiiau
Salis col.1 - col.17 110 EA / ny Ta ligwnsonfSeuieunu'ld 14 List mwz EA/ ny 1

1108199198719 taz 1 MESSAGE 1511 “ UNMATCH EA/VIL” udaliasisaeu

EA / VIL dusie 1/

DATA EA/VIL CONTROL EA/ VIL

REG CWT AMP TUM AREA PSU NO REG CWT AMP TUM AREA PSU NO

(col.1) (col.2-3) (col.4-5) (col.6-7) (col.8) (col.14-17) (col.1) (col.2-3) (col.4-5) (col67) (col.8) (col.14-17)
* * * * * * 2 11 02 10 1 0050
2 11 01 10 1 0050 * * * * * *

2. MeasdouTIuATITeudIuyAna luudas EA / ny 4 vaeluudaziun

2.1.81 BA /13 4 o egluvamauia s1uuniiisoudiuyanaved EA /vy 1 azdeadl
Snautanun 16 asaden Taeaisoudiduiazdeaisadidusad o1 — 16
[luuAaz EA /%34 61 AREA (col.8) =1 1az TYPE (col.26) = I Fariu
HH_NO (col.24-25) =01 — 08] AREA + SAMSET = 01 — 08

22 M EA /vy 4 1a oguoniuamaiia S1uauniIisoudIuyanaved EA/ wy STRYTEY
Resddusaud o1 - 12
[Tyt EA / 13} 1 81 AREA (col.8) = 2 ua% TYPE (col.26) = 1 fa1fu HH NO (col.24-25) =
01— 06] AREA + SAMSET = 01 - 06

y " g y

wn T 1anii 197 list d9us REG 89 TYPE (col.1-26) Y0914 EA / VIL 1 tag 14

s Y q 9 A
MESSAGE I “UNEQUAL HOUSEHOLD ” ud11¥ia329aey EA / VIL duse 1y




3.

A3ATINFUTIUIUENIFN 1UATATOU (MEMBERS : col.27-28 )
3.1 lunFow@ennu Sruauai®nluasasou (MEMBERS : col.27-28 ) U941AAaNNa 16U

(NO : col.33-34) 92@0 9N

v 9
3.2 TuAIToREINUAIFUNVDIAINTN (NO : col.33-34) VLADIVLADAIT BIA1AUAUA 01
KX o w Y

WA UFANIY

3.3 Tuasseu@enuiuiuandnluasiSou (MEMBERS : col.27-28) 3¢@01910 1 d1auN

qameveeyana (NO : col.33-34)

'
v A

1¥as29e01 IDEN faud n1a (REG : col.1) D4auFna1auil (NO : col.33-34) voauaay
RECORD 9804 11 mnannulid tist RECORD figh uda 1 MESSAGE iy “DUP IDEN”
MIATIHAMIUANIUATIATOU (ENUM : col.31-32 ) vo9AsAuToudaIMYyAfa (TYPE : col.26 = 1)
5.1 Tung a3 ouinaainld §1 ENUM (col.31-32) = 11 %30 14§17 NO (col.33-34) 4
AGE (col.37-38) 9204 1iii]u blank 97 col.
5.2 luaiatouiuanin 118 81 ENUM (col 31-32) = 12 %3 13 %30 21 W30 22 Wip 23 1o
24 K11 col 33-192 vzdoaiif blank
5.3 Tuaadouinaninld wamsuaiy (col.31-32) 11ag EA_SET (col.18) Yodau¥n lu

v A = [ Y =l v A o
ATATDULAYINUITADINTUAIMUDUNUNNAU

RANGE CHECK
T¥a3529e01 Possible Code ¥999)0 RECORD #14 DATA DICTIONARY %10
RECORD 1¢ 159 (code) 1ait3)1'11a 1 DATA DICTIONARY 1% list RECORD 14 1187

la = 1@%} col. NAA
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Consistency check ICT a§a15au 2562 (lasungd 4)

Item Condition Error
AAUN1
1 |IF ENUM (Col.31-32)=11 or 14 => H1 (Col.33-34) and H3 (Col.35) and H4 (Col.36) and H5 (Col.37-38) # b E1
2 |IF ENUM (Col.31-32)=12 or 13 or21 or22 or23 or 24 => H1 (Col.33-34) - T129 (Col.167) = b E2
3 |IF AREA (Col.8) =1 =>VIL (Col.12-13) = 00 E3
4 |IF H1 (Col.33-34=01-99) => H3 (Col.35) - H5 (Col.37-38) # b E4
5 |IF TYPE (Col.26=1) and H1 (Col.33-34=01) =>
4.1 and H3 (Col.35) =1 E5
4.2 and H103(Col.154) and H104 (Col.155-156) - H106 (Col.159-160) and H107 (Col.161) and H110 (Col.164) # b E6
6 |IF H1(Col.33-34)=02-99 =>
6.1 H3 (Col.35) =2-9 E7
6.2 H103 (Col.154) - H129 (Col.167) =b E8
7 |IF H5 (col.37- 38) < 06
7.1 H6 (col.39) - H129(col.167) = b E9
7.2 H3 (col.35) = 1o0or 2 or 4or 50r 7 E10
8 |IFH5 (col.37-38) = 15
8.1 H6 (col.39) =1-6 E11
9 [IFH5(col.37-38) < 15
9.1 H6 (col.39) = b E12
9.2 H9 (col.48) - H13 (col.59) =b E13
ABUN 2
10 |IF H5 (col.37-38) = 06
10.1 H7 (col.40 - 42) - H8A(col.43- 45) # b E14
10.2 H8A (col.43-45) = 000,110,210,211-215,240,250,310,320,330,340,350,410,430,440,450,630, E15
640,650,730,750,830,850 => H8B (Col. 46-47)= bbb
10.3 HB8A (col.43-45) = 420,460,510,520,610,660,710,760,810,860,870 => H8B (col.46- 47) # b E16
10.4 HB8A (col.43-45) =980 => HB8B (col.46-47) = 99 E17
ABUN 3
11 |IF H5 (col.37-38) 2 15
11.1 H9(col.48)=1o0r2 E18
11.2 and H9 (col.48) =1
11.2.1 H10 (col.49- 52) - H12 (col.58) #b E19
11.2.2 H10 (col.49-52) = 9970 => H11 (col.53-57) = 99999 E20
11.2.3 H10 (col.49-52) = 9980 => H11 (col.53-57) = b E21
11.24 H12(col.58)=1-8 E22
11.25 H13(col.59) = b E23
11.3 and H9 (col.48) =2
11.3.1 H10 (col.49-52) - H12 (col.58) = b E24
11.3.2 H13(col.59) =1-8 E25
ABUN 4
12 |IFH5 (col.37-38) = 06
12.1 H14 (col.60)=10r0 E26
12.2 H15(col.61)=10r0 E27
12.3 H16 (col.62)=10r0 E28
12.4 and H14 (col.60) = 1 or H15 (col.61) = 1 or H16 (col.62) = 1
12.4.1 H17 (col.63) =1 0r0 E29
12.4.2 H18 (col.64)=10r O E30
12.4.3 H19 (col.65) =10r0 E31
12.4.4 H20 (col.66)=1or 0 E32
12.4.5 H21 (col.67)=10r0 E33
12.4.6 H22 (col.68)=1o0r0 E34
12.4.7 H23(col.69)=10r0 E35
12.4.8 H24 (col.70)=1o0r0 E36
12.4.9 H25(col.71)=10r0 E37
12.5 and H14 (col.60) = 0 and H15 (col.61) = 0 and H16 (col.62) =0
12.5.1 H17 (col.63) - H25 (col.71) = b E38




Item

Condition

Error

IF H5 (col.37-38) = 06
13.1 H26 (col.72)=0,1-8

13.2 and H
13.2.1
13.2.2
13.2.3
13.24
13.2.5
13.2.6
13.2.7
13.2.8
13.2.9
13.210 H
13.2.11
13.2.12
13.2.13
13.2.14
13.2.15
13.2.16
13.2.17
13.2.18
13.2.19
13.2.20
13.2.21
13.2.22
13.2.23
13.2.24
13.2.25
13.2.26
13.2.27
13.2.28
13.2.29
13.2.30
13.2.31
13.2.32
13.2.33
13.2.34
13.2.35
13.2.36
13.2.37
13.2.38
13.2.39
13.2.40
13.2.41
13.2.42
13.2.44
13.2.45
13.2.46
13.2.47
13.2.48
13.2.49
13.2.50
13.2.51
13.2.52
13.2.53
13.2.54

26 (col.72) =1
H27 (col.73)= 1-0
H28 (col.74) = 1-0
H29 (col.75) = 1-0
H30 (col.76) = 1-0
H31 (col.77)= 1-0
H32 (col.78) = 1-0
H33 (col.79) = 1-0
H34 (col.80) = 1-0
H35 (col.81) = 1-0
36 (col.82)=1-0
H37 (col.83)= 1-0
H38 (col.84)=1-0
H39 (col.85)=1-0
H40 (col.86) = 1-0
H41 (col.87) = 1-3,9
H42 (col.88) = 1 -
H43 (col.89) =
H44 (col.90) =1-0
H45 (col.91) =1-0
H46 (col.92) =1-0
H47 (col.93)=1-0
H48 (col.94) = 1-0
H49 (col.95) = 1-0
H50 (col.96) = 1-0
H51 (col.97)= 1-0
H52 (col.98) = 1-0
H53 (col.99) = 1-0
H54 (col.100) =1-0
H55 (col.101)=1-0
H56 (col.102) = 1-0
H57 (col.103)= 1-0
H58 (col.104) = 1-0
H59 (col.105) = 1-0
H60 (col.106) = 1-0
H61 (col.107)= 1-0
H62 (col.108) = 1-0
H63 (col.109) = 1-0
H64 (col.110) = 1-0
H65 (col.111)= 1-0
H66 (col.112) = 1-0
H67 (col.113)= 1-0
H68 (col.114) = 1-0
H69 (col.115) = 1-0
H70 (col.116) = 1-0
H71 (col.117)= 1-0
H72 (col.118) = 1-0
H73 (col.119) = 1-0
H74 (col.120) = 1-0
H75 (col.121)= 1-0
H76 (col.122) = 1-0
H77 (col.123)= 1-0
H78 (col.124)= 1-0
H79 (col.125)= 1-0

ABUN 5

E39

E40
E41

E42
E43
E44
E45
E46
E47
E48
E49
E50
E51

E52
E53
E54
E55
E56
E57
E58
E59
E60
E61

E62
E63
E64
E65
E66
E67
£68
E69
E70
E71

E72
E73
E74
E75
E76
E77
E78
E79
E80
E81

E82
E83
E84
E85
E86
E87
E88
E89
E90
E91
E92




Item Condition Error
13.2.55 H80 (col.126)= 1-0 E93
13.2.56 H81 (col.127)= 1-0 E94
13.2.57 H82(col.128)= 1-0 E95
13.2.58 H83 (col.129)= 1-0 E96
13.2.59 H84 (col.130)= 1-0 E97
13.2.60 H85(col.131)= 1-0 E98
13.2.61 H86 (col.132)= 1-0 E99
13.2.62 H87 (col.133)= 1-0 E100
13.2.63 H88(col.134)= 1-0 E101

13.3 and H26 (col.72) = 1 and H71 (col.117) - H88 (col.134) atisiiae 1 Fautls maw 17a 1
13.3.1 H89A (col.135 - 136) = 01- 12 or 99 E102
H89B (col.137 - 138) = 01- 12 or bb E103
H89A (col.135 - 136) =99 — H89B (col.137 - 138) = bb E104
13.3.2 H90 (col.139) = 1-0 E105
13.3.3H91 (col.140) = 1-0 E106
13.3.4 H92 (col.141) = 1-0 E107
13.4 and H26 (col.72) = 1 and H71 (col.117) - H88 (col.134) =0
13.4.1 H89 A (co0l.135-136) - H92 (col.141) = b E108
13.5H93 (col.142) = 1-8o0r9 E109
13.6 and H26 (col.72) = 0, 2-8
13.5.1 H27 (col.73) - H93 (col.142) = b E110
AAUN 6
14 |IF H5 (col.37-38) = 06
14.1 H94 (col.143)=1-8 E111
14.2 H94 (col.143) =1
14.2.1 H95 (col.144) = 1-3 E112
14.2.2 H96 (col.145) = 1-2 E113
14.2.3 H96 (col.145) = 1
14.2.3.1 H97A (col.146 = 0-8 E114
14.2.3.2 H97B (col.147 = 0-8 E115
14.2.4 H95 (col.144) = 1 and H96 (col.145) = 1
14.2.4.1 H97A (col.146) = 1-8 => H97B (col.147) =0 E116
14.2.5H95 (col.144) =2 and H96 (col.145) = 1
14.2.5.1 H97A (col.146) =0 => HI97B (col.147) = 1-8 E117
14.2.6 H95 (col.144) = 3 and H96 (col.145) = 1
14.2.6.1 H97A (col.146) = 0-8 or HI97B (col.147) = 0-8 E118
14.2.7 H95 (col.144) = 1- 3 and H96 (col.145) = 1
14.2.7.1 H97A (col.146) =0 and H97B (col.147) =0 E119
14.2.8 H96 (col.145) =2
14.2.8.1 HI97A (col.146) - H97B (col.147) = b E120
14.2.9 H98 (col.148) =1-0 E121
14.2.10 H99 (col.149) = 1-0 E122
14.2.11 H100 (col.150) = 1-0 E123
14.2.12 H101 (col.151) = 1-0 E124
14.2.13 H102 (col.152) = 1-0 E125
14.3 H94 (col.143) = 2-8
14.3.1 H95 (col.143) - H102 (col.152) = b E126
15 |Response (col.153) = 1-3 E127




Item Condition Error
naun 7
16 |IF TYPE (col.26) =1 and ENUM (col.31-32) = 11 or 14 and H1 (col.33-34) =01

16.1 H103 (col.154) =0-8
16.2 H104 (col.155 -156) = 00 - 30
16.3 H105 (col.157 -158) = 00 - 30
16.4 H106 (col.159 -160) = 00 - 30
16.5 H107 (col.161) = 1-3
16.5.1 and H107 (col.161) = 1
16.5.1.1 H108 (col.162) = 1-6 or 9
16.5.2 H107 (col.161) = 2
16.5.2.1 H108 (col.162) = b
16.5.2.2 H109 (col.162) =0, 1-8
16.5.3 H107 (col.161) = 3
16.5.3.1 H108 (col.162) - H109 (col.163) = b
16.6 H110 (col.164) = 1-7 or 9

E128
E129
E130
E131
E132

E133

E134
E135

E136
E137
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